DIvISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH 5 Nane:
Time: Score: y—
31) 4655 = 5 = 16) 4942 =5 =
520 4100 = 5 = i) 2544 = 5 =
33 094 = 5 = 18) 364 +5 =
39 3004 = 5 = 19) 3514 =5 =
35 1977 =5 = 50) 2110 +5 =
) AT72 =5 = 50029 +05 =
37 4598 — 5 = 52) 1623 =5 =
38) 3472 =~ 5 = 53 1026 =5 =
390 1928 =— 5 = 59 1630 =5 =
0) 2513 +5= P03 +0=
1) 4844 =~ 5 = 56) 4167 + 5 =
12) 993 = 5 = 57) 1238 =5 =
13) 2102 = 5 = 58) 2870 =5 =
1) 1245 = 5 = 59) 4860 + 5 =
1) 2591 +5 = 0 627 +5 =
Mathematics: Division - Level § - Horizontal - Set 2 3 culu


https://www.workulum.com

